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QUESTION 1

What are three methods to reduce MySQL server exposure to remote connections? (Choose three.)

A. using SSL when transporting data over remote networks

B. using the sgl_mode=STRICT_SECURE after connections are established for encrypted communications
C. setting --skip-networking when remote connections are not required

D. setting specific GRANT privileges to limit remote authentication

E. setting --mysql_secure_configuration to enable paranoid mode

Correct Answer: ACD

QUESTION 2

What two statements are true regarding FLUSH TABLES FOR EXPORT? (Choose two.)
A. It can be used to export TEMPORARY tables.

B. Table only exports when the table has its own tablespace.

C. The InnoDB Storage engine must be used for the table being exported.

D. It is the safest way to extract tables from the shared tablespace.

E. Partitioned tables are not supported.

Correct Answer:. AB

QUESTION 3
A master-slave replication setup has the slave showing this error:

110902 16:47:08 [ERROR] Slavs I/0: Got fatal error 1236 from master
when reading data from binary log: ‘Client requested master to
start replication from impossible position’, Error code: 1236
110902 16:47:08 [NOTE] Slave I/0 thread exiting, read up to log
‘mysql-bin.0000337, position 4621673

On the master server, the binary logs show:
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—PWEW 1 mysgl mysgl 4625729 2011-05-01 13:45 mysgl-

bin.000032
—rwoEtw————— 1 mysqgl mysqgl 4620018 2011-05-01 13:45 mysgl-

bin.300033

What could explain this error? (Choose two.)

A. binlog_cache_size=1024 is too small and transactions are lost.

B. binlog_format=STATEMENT and a non-deterministic query was executed.

C. enforce_gtid_consistency=0ON and consistency is broken between the master and the slave.
D. The sync_relay _log=1000 setting on the slave is too small.

E. sync_binlog=0 and the master server crashed.

Correct Answer: AC

QUESTION 4

SQL injection is a common security threat.

Which two methods would help protect against this risk?

A. using stored procedures to validate values that are input

B. using SQL variables to secure input values

C. using prepared statements to handle unsecured values

D. installing the SQL Protection plugin to catch such attempts

E. starting the server with the ?injection-protection command-line option.
Correct Answer: AB

Reference: https://security.berkeley.edu/education-awareness/best-practices-how-tos/system-applicationsecurity/how-
protect-against-sq|

QUESTION 5

Consider:
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mysqgl> EXPLAIN SELECT DISTINCT City.id,City.name
-> FROM City,Country
-> WHERE Country.Name IN ('United States', 'Canada', "Mexico')
-> AND City.CountryCode=Country.Code
-> ORDER BY name\G
WO W W W W W W e W Wl e e W ol W W W W l- row oW W W W W W W Wl o e W o o o W ol ol W o ol o W W o
id: 1
select_type: SIMPLE
table: City
type: ALL
possible keys: NULL
key: NULL
key_len: NULL
ref: NULL
rows: 4079
Extra: Using temporary; Using filesort
we e ol ol dle e ke e e ol ol ol dle ol e e ol ol ol ol ol ol e ol o ol e 2_ row wie o ol ol e e e e ol ol ol e dle e e ol e ol o e ol ol ol ol o ol o
id: 1
select_type: SIMPLE
table: Country
type: eqg_ref
possible_keys: PRIMARY
key: PRIMARY
key len: 3
ref: world.City.CountryCode
rows: 1
Extra: Using where; Distinct

Which statement best describes the meaning of the values in the ref columns?
A. world.City.CountryCode is used as the primary key for the Country table.

B. No indexed columns are used to select rows from the City table. The world.City.CountryCode column is used to
select rows in the Country table.

C. world.City.CountryCode is used to sort the rows in the City table.

D. No indexed columns are used to select rows from the Country table. The world.City.CountryCode column is used to
select rows in the City table.

Correct Answer: B
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